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Iactoring Trinomials

Name: Date:

1.  What is the solution set of the equation S.  What is the solution set of x2 —x —20 = 0?
2
1 —3x—10=07

A, {5,-4} B. {-5,4)
A (5,-2) B. (-5,-2)
C. {-10,2} D. {10,-2)
C. (5,2 D. (-5,2)
2. The solution set of x* —2x—8=0 is 6. What is the solution set of the equation
x2=3x-4=07
A {4,-2) B. {-4,2)
¢ 158 5 (6.3 A {-3,1) B. (4,-1)
C. {=4,1} D. {3,-1)

3.  What is the solution set of the equation

P =-2x-3=0?

7. Solve for the positive value of x: x* +4x—21=0
A {2,1} B. {2,-1}
C. {-3,0} D. {3,-1)}

8.  The solution set of x2 —5x+6 =0 is
4. The solution set of the equation x> —x— 6 =0 is
A {1,5) B. {-1,-5)

A {6,-1}) B. {3,-2) C. {2,3) D. {=2,-3)

C. {2,-3} D. {-6,1}
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9.  What is the solution set of the equation
¥ +2x=15=0?

A. (3,-5) B. (-3,9)

C. (-3,-5) D. (3,5)

10. What is the positive value of x in the equation
2-x—6=0?

A1 B. 2 C. 3 D. 6

11. What is the solution set of the equation
2 -Tx-18=07

A {9,-2) B. {-9,2)

C. {-6,3}) D. {6,-3)

12.  What is the solution set of y2 —y —12 =07

A (3,4) B. {3,-4)

C. {-12,1} D. {-3,4}

13. What is the solution set for the equation
¥ +2x—15=07

A, {3,5) B. {-3,5]

C. {3,-5} D. {-3,-5)

14. What is the solution set of the equation
2-x-6=0?

A {3,-2) B. {-3,-2)
C. {-6,1) D. (3,2}
page 2 Factoring Trinomials
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